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Quiz 4—Friday, February 28
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g(x) 4 3) 1
1. (3 points) Two _functions gandh h_ave g'(x) 5 3 2
values as given in the table on the right.
Evaluate (and simplify) the following h(x) 3 -1 4
derivatives. R (x) 2 1 3

a. If f(x) = g(@) +h@) then F(1) = g'tiy+ Koy= S22 =7

b. If V(x) = g(x)h(x) then V'(2) = 3’(z\k(z7 + 40 Ky = 3F)+54
= 2.
c. If W(x)= 99 then wWQ@a3) = U_ﬂﬁ'(@ "3(33|"'(3') 4(-2) - l'b
" W(3)* 4=

2. (7 points) Evaluate (but do not simplify) the derivative:

X (e*+ cosx) — (e smx)

KL

d (ex+sinx) B

dx X
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